KEY REVIEW

True-False Questions

_____
1.
As companies downsize, the number of cross-trained workers who can 

perform multi-skilled tasks is increasing.

_____
2.
Safety regulations, economics, and personal reasons often drive automation.


_____  3.
When work is done in conjunction with fixed-processing-time equipment, elemental data are often used to reduce the need for direct observation.

_____
4.
Specialization of labor is the two-edged sword of job design.

_____
5.
An advantage of specialization of labor is the adverse effects on workers

_____
6.
Job enlargement adjusts a specialized job to make it more interesting.

_____
7.
Job enrichment broadens workers’ influence in the transformation process.

_____
8.
Organizational commitment is to provide meaningful and rewarding jobs


 for employees.

_____
9.
An advantage of specialization is rapid training of the workforce.

_____
10.
Work measurement methods determine the most efficient means of  
            performing a given task.


_____
11.
Normal time = observed performance time per unit x performance rating.

Multiple-Choice Questions

_____
12.
Which of the following is not a change in job design nowadays?



           A. Quality as part of the worker's job



           B. Cross-training workers to perform multi-skilled jobs



           C. Increasing the heavy manual work




D. Involving employees in TQM programs

_____
13.
Sociotechnical Systems include all of the following except:




A. Skill variety




B. Feedback




C. Task Variety




D. Job Enlargement

_____
14.
Which of the following is an advantage of specialization to management?




A. Rapid training of the work force




B. Difficulty in controlling quality




C. Increase in absenteeism




D. Increase in grievances

_____
15.
Which of the following is a disadvantage of specialization to labor?




A. Boredom with repetitive jobs




B. Ease in learning the job




C. Reduced educational requirement




D. Greater gratification from work constitutions

_____
16.
Adding more managerial duties to a job is called:




A. Job variety




B. Job enlargement vertical




C. Job enlargement horizontal




D. Job design

_____
17.
Trends in job design decisions include all of the following except:




A. Quality control as part of the worker’s job




B. Increase in heavy manual work




C. Extensive use of temporary workers




D. Cross-training of workers to perform multiskilled jobs

_____
18.
Work sampling should be used to determine task time for:




A. Very short interval, highly repetitive work




B. Short interval and repetitive tasks




C. Tasks in conjunction with machinery




D. Work of a long cycle time
_____
19.      ____ implies employees should be able to exercise some control over their work.  

   

A. Feedback




B. Skill variety




C. Task identify




D. Task autonomy

_____ 20.
Which of the following is an indirect method for measuring work and setting standards?

A. Work sampling

B. Time study

C. Predetermined motion time data systems (PMTS)

D. Elemental data

E. Both A and B

F. Both C and D

Problems

 21.
In a time study, a worker produced 20 units of a washing machine in 100 minutes. The analyst rated the worker at 80 percent.  Allowances for this type of work are 12 percent.


      A. Calculate the normal time.


      B. Calculate the standard time.

 22.     The standard time for sewing pockets on a pair of men’s work pants is 10 minutes. A worker produced 64 units, or pairs of pants, during an eight-hour working day.  The basic wage rate if $9.00 per hour.   Calculate the total earnings for the day under a 50-50 sharing plan and calculate the total earning for the day if the operator is paid in a 100 percent premium system.

 23.
A time study gave the following observed times in seconds for a job that involved packaging finished work uniforms into plastic bags and then into shipping cartons of 10, 15, 14, 15, 13, 12, 14, 13, 14, 13, 13.  The analyst rated the worker's performance at 80 percent for the tasks.  The allowances for fatigue and personal time are 15 percent.  Calculate normal time and standard time for the job. (Hint: Use Average)
24.

A worker produced 1,500 pairs of leather shoes over a 40-hour week.  A work sampling study shows that the worker was busy 90 percent of the time.  The analyst rated the worker at a performance rate of 120 percent.  Calculate normal time and standard time for the production of the shoes if the allowances are 12 percent.

